Agenda Item #: <u>34</u>-3

PALM BEACH COUNTY BOARD OF COUNTY COMMISSIONERS <u>AGENDA ITEM SUMMARY</u>

Meeting Date:	June 2, 2009	(X) Consent () Workshop	() Regular () Public Hearing
Department Submitted B Submitted F	· · · · · · · · · · · · · · · · · · ·	l Resources Management	

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to:

(A) approve Change Order No. 1 to the Primary Contract for the Palm Beach County Annual Artificial Reef & Breakwater Project No. 2008ERM04 (R2008-1667) with M&J Construction Company of Pinellas County, Inc. (M&J) to increase the Contract by \$1,332,002 to a not-to-exceed amount of \$3,992,436;

(B) authorize M&J to complete additional construction of the Riviera Beach Mitigation Reef in the amount of \$141,491 and to construct the Ocean Ridge Mitigation Reef in the amount of \$1,266,032, under work orders, in accordance with M&J's annual Contract (R2008-1667); and

(C) authorize County Administrator, or his designee, to sign the work orders for the Riviera Beach Mitigation Reef and the Ocean Ridge Mitigation Reef Projects.

Summary: Staff requests Board approval of Change Order No. 1 to increase the amount of work for the M&J Contract (R2008-1667) by \$1,332,002. Change Order No. 1 includes 1) reducing the unit costs of the ton/mile transport of artificial reef materials by barge to \$3.54 per ton-mile 10 miles or greater from the staging site and 2) increasing work including the completion of the Riviera Beach Mitigation Reef and the Ocean Ridge Mitigation Reef. Small Business Enterprise (SBE) goal of 21.04% as set forth in the Contract will remain in effect with greater detail provided in the work orders. In addition, staff seeks BCC authorization to execute two (2) additional work orders for the construction of these two (2) mitigation reef projects. These projects were obligated as permitting requirements for mitigation for work previously performed in the areas of Juno Beach, Jupiter Inlet and Ocean Ridge Shoreline Protection Projects. The Riviera Beach Mitigation Reef is funded from a combination of Jupiter Inlet District Revenues, Tourist Development Taxes, ad valorem and interest earnings in the Beach Improvement Fund. The Ocean Ridge Mitigation Reef is funded 39% by the Florida Department of Environmental Protection and 61% from a combination of Tourist Development Taxes, ad valorem and interest earnings in the Beach Improvement Fund. <u>Countywide</u> (JM)

Background and Justification: On September 23, 2008, the Board approved an annual contract with M&J (R2008-1667) for the construction of artificial reef and breakwater projects. Two (2) work orders were approved including the Riviera Beach Mitigation Reef (Work Order #1667-01; \$931,665) and the Boynton Beach/Ocean Ridge Riprap Project (Work Order #1667-02; \$548,223). On December 16, 2008, the Board authorized a work order for \$680,000 to construct the John's Island Oyster Reef. Reef construction authorized in these Work Orders is projected to be completed in late summer.

Attachments:

1. Change Order No. 1

2. Contract and Bid Schedule (Contract-1,2; Bid Form-6)

Recommended by: Approved by: Approved by: County Administrator Approved by: Appro

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fiscal Impact:

Fiscal Years Capital Expenditures Operating Costs	2009 <u>\$1,332,0</u> c2	2010	2011	2012	2013
External Revenues Program Income (County) In-Kind Match (County)					
NET FISCAL IMPACT 💥	<u>\$1,334</u> 002			· · · · · · · · · · · · · · · · · · ·	
# ADDITIONAL FTE POSITIONS (Cumulative)					
Is Item Included in Current Budget Account No.:	U _	Yes <u>2</u> epartment <u>33</u>	<u>81</u> Unit M	No 045 Object 015	<u>4630</u>
3652-381-M04 3652-381-M03 C. Department I	15-4630- 14 15-4630- 1,26 Fiscal Review: <u>III. REVI</u> and /or Contr tonal const $tonal consttonal size by ba 100 \ 500 \ 510^{-10}510 \ 500 \ 510^{-10}510 \ 500 \ 510^{-10}510 \ 500 \ 510^{-10}510 \ 500 \ 500 \ 510^{-10}$	$F(x) = \frac{1}{2}$	Beach Mitigati Ridge Mitigatio NTS Control Comm (7,522) less Control Comm (7,522) less Control Comm (7,522) less Control Comm (7,522) less Control Comm	on Reef n Reef n Reef eduction in tra $uoboological ent and Contro uos 3/27/09dmovin y$	07/09
C. Other Depart	ment Review:				

Department Director

2

Attachment 1

CHANGE ORDER NO.: 1

(Mark applicable category:) ___X__ Owner Initiated

_____ Differing Site Conditions _____ Zoning/Code/Ordinance Changes

Errors/Omissions/In Design

X Quantity Overruns/Underruns Request By Another Agency/Outside Party

____A. Reimbursable

_____ B. Non-Reimbursable

Other

PROJECT: Palm Beach County Annual Artificial Reef & Breakwater Project PROJECT NO. : 2008ERM04

(Contractor):

M & J Construction Company of Pinellas County, Inc. 809 S. Safford Avenue Tarpon Springs, FL 34689 CONTRACT RESOL. NO. COMM. DISTRICT NO.: DATE: NOTICE TO PROCEED DATE: COMMENCEMENT DATE: BUDGET LINE ITEM:

R2008-1667
Countywide
6/2/09
N/A
N/A
N/A

You are directed to make the following changes in this contract:

1. "Additional ton-mile" rates for Bid Items 10, 12, 14 and 16 changed when project is beyond 9 miles from the staging site. Total (\$75,520.00) reduced in item 14.

2. Contract Bid amount increased to \$3,992,435.46 by increasing Quantities for items 1, 3, 9, and 10. Total \$1,407,521.70.

3. The attached Revised Bid Schedule replaces the Bid Schedule, page Bid Form-6.

NOT VALID UNTIL SIGNED BY COUNTY. SIGNATURE OF THE CONTRACTOR INDICATES HIS <u>AGREEMENT</u> HEREWITH INCLUDING ANY ADJUSTMENT IN THE CONTRACT SUM OR CONTRACT TIME, AND NO ADDITIONAL COST OR TIME INDICATED HEREIN WILL BE RELATED TO THIS CHANGE

The Original Contract Sum was	\$ <u>2,660,433.76</u>
Net Change by previous Change Orders	\$ 0.00
The Contract Sum prior to this Change Order was	\$ 2,660,433.76
The Contract Sum will be increased/decreased by this Change Order	\$ <u>1,332,001.70</u>
The New Contract Sum including this Change Order will be	\$ <u>3,992,435.46</u>
The Contract Time will be increased/decreased by _zero_ (0) Days	
The Date of Substantial Completion including this Change Order	<u>N/A</u>
The Date of Final Completion including this Change Order	<u>N/A</u>

Execution of this Change Order acknowledges final settlement of, and releases, all claims for costs and time associated, directly or indirectly, with the above stated modification(s), including all claims for cumulative delays or disruptions resulting from, caused by, or incident to such modification(s), and including any claim that the above stated modification(s) constitutes, in whole or part, a cardinal change to the contract.

PALM BEACH COUNTY, FLORIDA BY ITS BOARD OF COUNTY COMMISSIONERS

By: _

John F. Koons, Chairman

ATTEST: Sharon R. Bock, Clerk & Comptroller

By: _____ Deputy Clerk

DATE: _____

(Seal)

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

By: _____ Assistant County Attorney

APPROVED AS TO TERMS AND CONDITIONS By: Manual Manu

Richard E. Walesky, Director Dept. of Environmental Resources Management

M & J Construction Company of Pinellas County, Inc. CONTRACTOR

809 S. Safford Avenue Address Tarpon Springs, FL 34689 BY_______ ITS______ [Title]

DATE 5-18-09

page 2 of 2

cc: Finance Contract Development and Control ERM FSS

REVISED BID SCHEDULE

2008ERM04 **Project Number:**

Palm Beach County Annual Artificial Reef & Breakwater Project **Project Name:**

Contractor Name:

M&J Construction of Pinellas County, Inc.

Bid Item	Description	Units		Unit Price	Quantity		TOTAL
	General						
1	Turbidity Monitoring/Reporting	Day	\$	152.22	66	1	10,046.
2	Mobilization & Demobilization ¹	Work Order	\$	104,812.52	2	\$	209,625,
	Stone Supply						
3	Supply Limestone Boulders (3' to 4' diamter)	Ton	\$	54.28	23,280		1,263,638
4	Supply Limestone Rock (1' to 1.5' diameter)	Ton	\$	54.28		\$	271,400
5	Supply Limestone Rock (2' to 3' diameter)	Ton	\$	54.28		\$	179,124
6	Supply Bedding Stone	Ton -	\$	54.28	575		31,211
7	Supply Chinking Stone	Ton	\$	51.92		\$	5,192
8	Supply Filter Fabric	SY	\$	14.16	6,600	\$	93,456
	Nearshore Limestone Reef Construction						
9	Limestone Reefs Transport/Install (includes first ton-mile)	Ton	\$	16.52	21,280		351,545
10	Limestone Reefs Transport/Install (additional ton-mile) ² (Within 9 miles)	Ton-Mile	\$	7.08	22,720	\$	160,857
10a	Limestone Reefs Transport/Install (additional ton-mile) ² (9 miles or greater)	Ton-Mile	\$	3.54	158,720	\$	561,868
	Nearshore Pre-fabricated Reef Modules						
11	Pre-fabricated Modules Transport/Install (includes first ton-mile)	Ton	\$	56.64	200	\$	11,328
12	Pre-fabricated Modules Transport/Install (additional ton-mile) ² (Within 9 miles)	Ton-Mile	\$	20.06	400	\$	8,024
12a	Pre-fabricated Modules Transport/Install (additional ton-mile) ² (9 miles or greater)	Ton-Mile	\$	3.54	0	\$	
160	Offshore Limestone Reef Construction	1	<u> </u>				
13	Offshore Reefs Transport/Install (includes first ton-mile)	Ton	\$	37.76	2,000	\$	75,520
14	Offshore Reefs Transport/Install (additional ton-mile) ² (Within 9 miles)	Ton-Mile	\$	5.90	0	\$	
14a	Offshore Reefs Transport/Install (additional ton-mile) ² (9 miles or greater)	Ton-Mile	\$	3.54	32,000	\$	113,280
148	Concrete Reef Construction		+				
15	Reef Placements Transport/Install (includes first ton-mile)	Ton	\$	206.50	100	\$	20,650
	Reef Placements Transport/Install (additonal ton-mile) ² (Within 9 miles)	Ton-Mile	\$	31.72		\$	12.688
16	Reef Placements Transport/Install (additional ton-mile) ² (9 miles or greater)	Ton-Mile	\$	3.54			10,000
16a		1 on-Mile	<u><u></u> <u></u> <u></u> <u></u> <u></u> −</u>	5.04		\$	
	Oyster Reef Construction	Ton	\$	29.50	5.000	\$	147,500
17	Oyster Reefs Transport/Install (includes first ton-mile)		\$			\$	20,650
18	Oyster Reefs Transport/Install (additional ton-mile) ²	Ton-Mile	1	0.59	39,000	3	20,000
	Pile Reef Construction	Ton	\$	1,221.30	100	¢	122,130
19	Pile Reefs Transport/Install (includes first ton-mile)				800		58,528
20	Pile Reefs Transport/Install (additional ton-mile) ²	Ton-Mile	\$	73.16	800	2	38,326
	Breakwater Construction			1 20	0.000		01.150
21	Transport/Install Filter Fabric	SY	\$	4.72	6,600		31,152
22	Transport/Install Bedding Stone (includes first ton-mile)	Ton	\$	34.22	575	_	<u> </u>
23	Transport/Install Chinking Stone (includes first ton-mile)	Ton	\$	53.10		\$	
- 24	Transport/Install Armor Stone (includes first ton-mile)	Ton	\$	41.30	3,300	_	136,290
25	Transport/Install All Stone (additional ton-mile) ²	Ton-Mile	\$	1.18	60.800		71,744

Work Order \$

0%

Additional Costs Premium for Davis-Bacon Act (Wage Rate) Compliance 26 ¹ Mobilization/demobilization costs shall only be allowed once for work orders with overlapping construction schedules.

² Additional ton-miles are calculated starting 1 mile from the FPL staging site and continuing to the project location. Does not incluide return to staging site. If the distance to a project. is 9 or more additional miles or 10 or more miles from the FPL staging site, then the entire distance for additional ton-miles will be reduced to \$3.54 per ton-mile for items 10a, 12a, 14a and 16a.

N

CONTRACT HISTORY

M & J Construction Company of Pinellas County, Inc. Annual Artificial Reef & Breakwater Project Project Number 2008ERM04

Contract R2008-1667 dated September 23, 2008 for period of one year expires on September 22, 2009. SBE-MBE Goal 21.04% (21.04% SBE/H) Work Order summary:

WORK ORDER NUMBER	TOTAL/ SBE AMOUNT	ACTUAL TOTAL/SBE AMOUNT	WORK ORDER DESCRIPTION	WORK ORDER DATE	COMMENCE MENT DATE
1667-01	931,664.48 196,064.55		Nearshore Limestone Construction (Riviera Beach)	ERM 12/1/2008	ERM 1/5/2009
1667-02	548,222.10 115,373.34		Boynton/Occan Ridge Breakwater Construction	ERM 12/1/2008	ERM 1/5/2009
1667-03	51,029.10 10,739.00		Lake Ida Wetland Restoration Breakwater Construction	ERM 5/12/2009	ERM

1,530,915.68 Total: SBE:

\$0.00 \$0.00

322,176.89 21.045%

SBE Participation: Report Date & Filena

M & J Construction [history_1667 xls]Sheet1 T:\eer\engser\Con T

ĥ

SCHEDULE 1 FOR CHANGE ORDER NO.

LIST OF PROPOSED SBE-M/WBE PRIME AND/OR SUBCONTRACTORS

D OPENING DATE: 8-5-0			이 같이 있었다. 영화 성격 등		방법이 만들어 같이, 먹었		rces Manage		
Name, Address and Phone Number (Check One or Both Categories) Minority Business Small Business			Black	Subcontract Amount					
Oaveche Ind, Inc 1000 coral ct Boynton Beech, Fl 33426 Sol-740-1554	X	X	\$	\$	\$ <u>280,319.</u> 76	\$	\$		
				\$	\$	1.2017 1.	ананананананананананананананананананан		
			\$	\$	\$	\$	\$		
			\$		<u></u>	\$	••••••••••••••••••••••••••••••••••••••		
			S <u></u>	• <u>•</u> ••••••••••••••••••••••••••••••••••		\$ <u></u>	\$		
Please use additional sheets if neo	cessary)	Total	\$	\$	\$ 280,319.76	\$	\$		

NOTE: 1. The amounts listed on this form must be supported by the Subcontractors (and, if applicable, Prime) prices included on Schedule 2 in order to be counted toward goal attainment.

2. Firms may be certified by Palm Beach County as an SBE and/or an M/WBE. If firms are certified as both an SBE and M/WBE, please indicate the dollar amount under the appropriate category. 3. M/WBE information is being collected for tracking purposes only.

, 	······································
	15
MUST BE COM	SCHEDULE 2 CHANGE ORDER NO. 1 AS AN SBE OR M/WBE PRIME OR SUBCONTRACTOR PLETED IN ITS ENTIRETY BY SBE]
	-
PROJECT NAME: Palm Beach County Annu	Jal Artificial Reef & Breakwater Project
10-110 Sconstruction Compa	of Prime Bidder)
erined by Palm Beach	County as a(n) - (check one or more, as applicable):
Lineprise	Minority Business Enterna
Black Hispanic Women _X	Caucasian Other (D)
Date of Palm Beach County Certification:	Other (Please Specify)
The undersigned is a	12-11-07
(Specify in detail, particular work item	following described work in connection with the above project
(Specify in detail, particular work items of	parts thereof to be performed):
Item No. Item Description	
Indicity Maritoring R	Qty/Units Unit Price Jotal Price
	place 15_ 1000 \$ 1,650.00
	<u> </u>
at the following price \$ 280: 319.7	
(Subcontractor's Quote)	<u>6</u>
and will enter into a formal agreement for word	k with you conditioned upon your execution of a contract with
and Beach County.	with you conditioned upon your execution of a contract with
Undersigned intended	
subcontractor, the amount of any such subcont The undersigned subcont	tract must be stated s
he undersigned automatic	
prevent subcontractor from providing quotation	hat the provision of this form to prime Bidder does not is to other Bidders.
	(Name of SBE-MWBE Subcontractor)
	By: ANIN CAR
	(Signature)
	(Name / Title of person executing on bobs 1/ 1/202
	(Name / Free of person executing on behalf of SBE-M/WBE) Date: $5/19/09$
OJECT NO. 2008ERM04	(7
A A A A A A A A A A A A A A A A A A A	APPENDIX A - 12

PROJECT NO. 2008ERM04

Attachment 2

R2008, 1667 CONTRACT

SEP 2 3 2008 THIS CONTRACT, made and entered into this _ _ day of , 20__, between PALM BEACH COUNTY, a political subdivision of the State of Florida, hereinafter referred to as the "County" and M&J Construction Company of Pinellas County, Inc., hereinafter referred to as the "CONTRACTOR".

WITNESSETH:

That the said Contractor having been awarded the contract for the:

Palm Beach County Annual Artificial Reef & Breakwater Project Project No.: 2008ERM04

in accordance with the Bid therefore and for and in consideration of the promises and of the covenants and agreements, and of the payments herein specified, to be made and performed by the Contractor and the County, the Contractor hereby covenants and agrees to and with the County to undertake and execute all of the said named work, in a good, substantial and workmanlike manner, and to furnish and pay for all materials, labor, supervision, equipment, supplies, fees, expertise, and services necessary to fully complete all work in accordance with all requirements of the Contract Documents and in accordance with all applicable codes and governing regulations, within the time limit specified in the Bid Form. The Contract Documents consist of the following documents which are incorporated herein by reference.

- Invitation for Bid, Instructions to Bidders, Bid Form and Attachments 1 through 8. A -
- **B** -Completed Insurance Forms.
- General Conditions, Supplemental General Conditions and Appendices A & B. C -D -
- Technical Specifications, including Figures, Attachments and Appendices. E -Addenda.

The Contractor acknowledges that the Work described by this Agreement shall be authorized by Work Order(s) and no minimum number or dollar value of Work Order(s) is promised under this Contract. The Contractor agrees to perform each Work Order issued by the County hereunder for the fixed prices to be established in each Work Order, based on the unit prices set forth in the Contract Bid Schedule, up to a maximum amount for all Work Orders not to exceed Two million six hundred sixty thousand four hundred thirty-three dollars and seventy six cents (\$2,660,433.76), except as may be increased according to Articles 42 and 43 of the General Conditions. Each Work Order shall establish a fixed price, a time for completion and applicable Liquidated Damages for delay in Substantial and Final Completion.

This Contract is for a term not-to-exceed twelve (12) months from the date set forth above.

IN WITNESS WHEREOF, the Board of County Commissioners of Palm Beach County, Florida, has made and executed this Contract on behalf of the said County and caused the seal of the said County to be affixed hereto, and the Contractor has hereunto set its hand and seal the day and year written. The Contractor represents that it is authorized to execute this contract on behalf of itself and its Surety.

ATTEST: SHARON R. BOCK CLERK & COMP APPROVED AS TO FORMAND EGAL SUFFICIENCY: stant County Atterney

R2008 1667 SEP 2 3 2008 PALM BEACH COUNTY, FLORIDA, A Political Subdivision of the State of Florida BOARD OF COUNTY COMMISSIONERS

By: ene Addie L. Greene, Chairperson

APPROVED AS TO TERMS AND CONDITIONS:

Richard E. Walesky, Director Department of Environmental Resources Management

CONTRACTOR:

Florida

(insert state of

(signatory)

Nick Kokkings

a

By:

M&J Construction Company of Pinellas County, Inc. (Corporate Name)

ion

<u>M</u>U (witpess signature)

12

T

1

ar (witness name printed)

(Corporate Seal)

Its: Fresider (print title)

(print signatory's name)

Hugust 21 2008 (date of execution)

809 South Safford Avenue (Contractor's Official Address) Tarpon Springs, FL 34689 (Contractor's City, State, Zip Code) 59-2361020 (Federal Tax No.)

10

corporation

BID SCHEDULE

PROJECT NUMBER: 2008ERM04

PROJECT NAME: Palm Beach County Annual Artificial Reef & Breakwater Project

CONTRACTOR NAME: MEJ CONSTRUCTION OF FINISUAS DATE: 8-5-08

Bid Item	Description	Quantity	Units	Unit Price	TOTAL
STATES OF	General	THE		TARE AN IN ATTACK	A SECTION STATES
1	Turbidity Monitoring/Reporting	51	Day	152.22	7763.22
2	Mobilization & Demobilization	2	Work Order	104812.52	209625.04
and the state	Stone Supply			and the second	
3	Supply Limestone Boulders (3' to 4' diamter)	11,700	Ton	54.28	635076.00
4	Supply Limestone Rock (1' to 1.5' diameter)	5,000	Ton	54 28	27 400.00
5	Supply Limestone Rock (2' to 3' diameter)	3,300	Ton	54.28	79/24.00
6	Supply Bedding Stone	575	Ton	54.28	31211.00
7	Supply Chinking Stone	100	Ton	51.92	5192.00
8	Supply Filter Fabric	6,600	SY	4.10	43456.00
3	Nearshore Limestone Reef Construction			and the second	POT MY CHARGE STREET
9	Limestone Reefs Transport/Install (includes first ton-mile)	9,700	Ton	6.5.2	16024.0
> 10	Limestone Reefs Transport/Install (additional ton-mile) ²	19,400	Ton-Mile	7.08	37352.0
and the second	Nearshore Pre-fabricated Reef Modules		19.1254/1		A CONTRACTOR OF THE STREET
	Pre-fabricated Modules Transport/Install (includes first			-1-1-1	11000 00
11	ton-mile)	200	Ton	56.64	1328.00
	Pre-fabricated Modules Transport/Install (additional ton-			20.06	Part an
^や 12	mile) ²	400	Ton-Mile	20.00	8024.00
	Offshore Limestone Reef Construction	and the second of the second o			and the state
13	Offshore Reefs Transport/Install (includes first ton-mile)	2,000	Ton	37.70	75520.00
> 14	Offshore Reefs Transport/Install (additional ton-mile) ²	32,000	Ton-Mile	5.90	88800.0
and a second	Concrete Reef Construction			leen i 1 1, i i _kink <u>ki≮i</u>	A B LAN TO LAND
15	Reef Placements Transport/Install (includes first ton-mile) ²	100	Ton	206.50	20050.00
v 16	Reef Placements Transport/Install (additional ton-mile) ²	400	Ton-Mile	31.72	12688.0
the provide	Oyster Reef Construction		an managang sa kananan sa kananan Sa kananan sa	n na ser an grainne an	
17	Oyster Reefs Transport/Install (includes first ton-mile)	5,000	Ton	29.50	47500.0
18	Oyster Reefs Transport/Install (additional ton-mile) ²	35,000	Ton-Mile	.59	20650.0
	Pile Reef Construction	Same Same	n an	and the second	and the second
19	Pile Reefs Transport/Install (includes first ton-mile)	100	Ton	221.30	22130.0
20	Pile Reefs Transport/Install (additional ton-mile) ²	800	Ton-Mile	73.16	58528.0
	Breakwater Construction		S. Martin C. S.	and the second second	and the second
21	Transport/Install Filter Fabric	6,600	SY	4.72	31152.00
22	Transport/Install Bedding Stone (includes first ton-mile)	575	Ton	34.22	19676.51
23	Transport/Install Chinking Stone (includes first ton-mile)	100	Ton	53.10	5310.0
24	Transport/Install Armor Stone (includes first ton-mile)	3,300	Ton	41.30	1310240.0
25	Transport/Install All Stone (additional ton-mile) ²	60,800	Ton-Mile	1.18	1744.0
			T	TAL BASE BID:	\$2060A33
Bid Item	Additional Costs	Quantity		Percentage	Sale March Bass - ADM And Sale
26	Premium for Davis-Bacon Act (Wage Rate) Compliance	+	Work Order \$	0 %	61 G 11 2 S 18 18 6

¹Mobilization/demobilization costs shall only be allowed once for work orders with overlapping construction schedules.

²Additional ton-miles are calculated starting 1 mile from the FPL staging site and continuing to the project location. Does not include return to staging site.

//

PROJECT NO. 2008ERM04

, I

1

•

Ĵ